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REF BB ELEARAESEEZ R EHI0E103L, 4243589 7~
R R MIATEH . LA XAEETE:  (PAS 2050:2011 7= & Fu i %
TEEG EHAWEZE AEESTFNAEY . (1SO14064-1:20184H 4 Z 0k -
HimE AR RAFERNE N ARENELIET) . (1SO14040:20063F 35
B IR A BT - R N AR 42 ) ROE i 3E R B R R L RAE R AR VE

S E A : B2B(Cradle to gate): AR AEF-F= &l -0 HEZ P

B R i :>>

EH10E100ELE RN T -

7= i BT 3.62 tCO2e/ & /

B

JFORE A 77 77 A B HE K 3.57 tCOxe/& | HMERNZIFN T

= e A P 15 B HE R 0.00 tCOx/& | HMERNZIFN T

SHEZPRBERAR | 0.05 tCOx/6 | HMEENZ TN
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(1) BERAEFFENHER: TEAEEH 10 B 10 3h 4 =32 W HH
H oA 20204 & B R Bk BT 2020 £ FEARHE A E ST EH

(2) P A R = E AN T 2020 FIHFESN G B AW
Hk. BT LEEE~R#TIFS, BT ERIT 2 HE

Q) "HEEFNTRER: GTXEEFTAFRTERRTHENE
WAEHE, i A EEMEHE,

— . HmE TR

(1) JE# £ H 3% B F & J8 Bath ICE V3.0 dataset F #2032 .

(2) B AHE T HRIETC2011 £50 2012 4 F X388 K -F4 = a5
HHEFY 2P HEKETF.

(3) HmHEd A FRETHEE RS E

=, BET®:

(1D FERAEFHR: RREfEE X ERSEEREF

(2) SNIgeE A Hed: B, RABBREXES, I AHHEF

(3) M BHEA: LimEAEE X LKA R E X B R EE K

& X 5l A E X44/12




o, tERERER:

JE AL 4
JERE SR JHFEE HEBEF (tCO./t) | HEFE(tCO2)
439 (ANEE) 1473.99 1.9 2800.58
AR 3097.88 2.53 7837.63
iR 1995.02 2.28 4548.65
Bt 15186.86
in Hy e | SRR .
i wie | TOE | gan | WTH ) TER | e
Jog ST AN B a
ES t G/t tC/G) % — tCO2
A B C D g | FFABCD
*E/100
s 67.93 42652 | 0.0202 98 44/12 210.31
R4 E Az EE RN T
7= i R 1.53 tCOze/ & /
H.
A PR A B HE T 1.50 tCOze/ & Hemk £ 4K ZFN 77
PR om A PR | B HE 0.00 tCOse/ & Hemk £ 4K 9 ZF M 7
DEHEEEFNZWAEK | 0.03 tCOze/ & Hemk £ 4K 9 ZF M 7
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(D) ERAEFFENEER: TEECFEEH 10 E 10 354 3B H®.
HF 2020 F L4 BEAAERET 2020 FEA A EEE LT FH.

(2) 7= £ PSR R £ B A FE AR F] 2020 SFHFESN G A R A B
k. mTLERER” BH#ATHRS, TR AITE IS8R

Q) "HEEFHNZREER: BTXBRETEFAFT BT AN L
WA, T e EELMEHE,

— . HeE TR A

(1) B #He# H F & JF Bath ICE V3.0 dataset.

(2) B AHEHEFRIET (2011 F51 2012 4F o [ X 8,8 K F 4 — |5
HwHF) #aedee ZHmE F.

(3) RwHHE T RET 188 2 E.

(D EREFHR: EREAE X ERHRE T

(2) S Hed: B, AR EXEN. RAHHET

(3) ZwmhEH: KR E X KB R LN E X PN EE %

7 X 5B A0 E X 44/12




W, EAERER:

R RS
FE#R R JHFER HBET (tCO/t) | HEME(tCO2)
AR 2478.07 2.53 6269.52
Y AY A = J—#" Zazl
= e | E0% | BTE | wan | wER
A8 | e | pg | BER | g ¥
PRE A 2
S t G/t tC/G) % — tCO2
F=A*B*C*D
A B C D E TE/100
e 45288 | 42.652 | 0.0202 98 44/12 140.21




